BE+t-A=1t—HLHFE

—NANF —ZETTF —2E—F BT —EE=F
FAETT FAETT FAETT FAETT FET

(E75) (E3) (E5) (E3)
R 1,066,666 1,180,286 1,117,930 1,024,302 1,149,893
BRBAT A EEKSR 132,534 131,943 113,084 103,273 97,017
bR (3,380) (6,725) (4,989) (10,970) (16,421)
Rt DR RERANSEF 129,154 125,218 108,095 92,303 80,596
LERRES 1 1,922 (2,619) 54 574
REFHF 129,155 127,140 105,476 92,357 81,170

R+=—H=+—8H

— N E —ZBEZZF —ZTF—F T -F ZZEBE=HF
FAETT FAETT FAETT FAETT F#ET

(E75) (E3) (E5) (E75)
BEHAE 831,440 830,460 915,277 922,743 1,006,219
EEHAE (308,920) (243,544) (277,668) (241,919) (299,819)
LERRES (76) 1,834 (17,912) (15,904) (18,464)
BRRES 522,444 588,750 619,697 664,920 687,936

Kiat : EFEFETHAE

VAR BRBR A0 BA TS SRR MY a2l & St BRI 1298 (IRIER]) EAE Z R RTBURE



